YAMAHA VMAX 1700 (09-)

FRAME SLIDERS

part# Y-VMAX09FS
SOCKET HEAD SOCKET HEAD
[L] M10x40mm P1.25 M10x40mm P1.25

COLLAR 5-6

SLIDERPUCK  SET SCREW M6x6 \,l

WASHER M6

[SDR-REV-L] [SSCW-M6]
BUTTON HEAD
SLIDER BASE [L] MEX20m
COLLAR 40-10
SLIDER BASE
M10 GOLD
SPLIT WASHER M10
SOCKET HEAD
M10x70mm P1.25
COLLAR 5-6
SOCKET HEAD SOCKET HEAD ((((
M10x40mm P1.25 M10x40mm P1.25 BUTTON HEAD
WASHER M6 M6>20mm

SET SCREW M6x6

[SSCW-M6] SLIDER PUCK

[SDR-REV-L]

[R]
COLLAR 40-10
SLIDER BASE

M0 GOLD SOCKET HEAD
SPLIT WASHER M10 ~ M10x70mm P1.25

satoracing.com



